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21 28A0, 2, 2)E B2, —1, H)oEREIHA i bEomz P, yilbomz Q, zillEdDi%z R &
95, ZDLE, ROMIZER &.

(1) 3P, Q, ROusfz kb L.
(2) cos ZPQR %= ke £.
(3) APQR OfE%E kb k.

() P(p,0,0), @Q(0,%.0), R(0.0,F) 73

AP=BP &Y AP’=BP* 7T (P-1)+4+4 = (p~2)+ 1+16

P=6
AG=BQ &) AQ'= BT BT [+ (§-2)"+4 = 4+ (§+1)*+16 =2
AR=BR &) AR*=BR!*%ar 144+ (r=27= 4+1+(r-4) F=13

- P(6.0.0),@(0,-2.,0),R(0.0,3)

iz

@ Pa= (G Fos =20, @R={ow T (o7 =47, PR={Goncor < 305 ¢
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3 z + 3— A
RILZR I, pap= HHB-45 21\,312_0 - u; WL
2241013 6 ) -
Q
37
(3) cos £PaR = -\l_fé'g T, sin*LP@R = [~cos*2PAR &), sin2PQR = -ﬁ

“ AP@AR = '2{-2\%«[@@ = 31,}—1:
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